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Instructions :

(Q1) Attempt the following questions
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(1) Solve (tany + x)dx + (xsec?y — 3y)dy = 0
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(Q2) Attempt any TWO questions of the following

(21) Using Newton Raphson method, Find th
interval (1. 2). Choose X = 4
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The circuit consist of a resistance R, an inductance L and voltage E, the current i is

Using Euler’s method, find the approximate value of y when x=3. given
: 02. okw =22 DY\ =4E
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) Using Bisection method, Find the approximate e interval
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interval (1, 1.5) up to 4 iterations. \

Using Regula-Falsi method. Compute the io?t (\,fs equation xe® — 3 = 0 in the (5.0
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(Q3) Attempt any TWO questions of the following q(l( =i has” [10.0)
(3.1)
Calculate first and second derivatives of the function f(x) at x= 1.5, if 150]
X 1.5 2.0 25 3.0 3.5 4.0 45 |
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. : [5.0]
(3-3) Using Lagrange’s formula. compute f (2). given "
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(Q4) Attempt any TWO questions of the follaving ERSAS (5.0)

(A1) sotve p(L+q) =4z
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Blooms Taxonomy - Understand, Apply
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